Precalculus 6.1-6.2 Name:
Vectors and Their Applications

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
Find the component form of the indicated vector.

1) Let u={-1, 3), v=(6, -3). Find -4u + 3v. 44)“9\7 + 19, -Q? 1) (93,—9‘L>

Solve the problem.

2) An airplane is ﬂymg on a bearing of 280° at 430 mph. Fmd the component form 2)
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Find a* b. Dot Product! —|7+\20
4) a=(5,-7, b=(3,-7 4) (.OLI(

Qo= S b+ CNET)= 1S +49

Find the angle between the gwen vectors to the nearest tenth of a degree.
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Solve the problem.
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7) Find the work done by a force F of 27 pounds acting in the direction (1, 2) in

moving an object 3 feet from (0, 0) to (3, 0). _ ©
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8) Find the work done by a for of 29 pounds acting in the direction (1, 2} in 8) I %’,
moving an object 5 feet eg, 0) to a point in the first quadrant along the
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9} A force of 586 Ib is required to pull a boat up a ramp inclined at 24.0° with the ~ 9)

horizontal. How much does the boat weigh? 5Bk e
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a compass heading of 90.0° at 390 mph. The wind affecting  10)

10) An airpfane fiie

the plane is blowihg from 324° at 35.0 mph. What is the true course and grounc l 31l

speed of the airplane? Round results to an appropriate number of significant Q —Jm - 2_"9__, )
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11} Determine the resultant effect of three people pullmg on a car as showninthe 11)
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a=95.0lb,b=4501lb,c=41.0lb,d= 18, e=19°
Round results to an appropriate number of significant digits.
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